'

- [ | & - ]
Noltricedorn X0 06/8014

Asgindand Exapirluic Cmamapd(AEE sl 435e5 o,
EEA/STA/113 2016
SCREENING TEST Series
(Agricultural Engineering) S
Tiene : 150 Minutes Max Marks : 150
Aedathila » 150 Sbhaieos E.J.}Igﬂ :d"ﬁ?&'ﬂ.l s 150
INSTRUCTIONS {;"Q-i'ﬁaaau]

1.  Pleaso check the Test Booklst and ensure that it containg all the questions. If you find any defect in
the Test Boaklet or Answer Sheet, please get it replaced immediately.
S Ssed’ el Sfhe Sufoleddd BY LrRFESSR. 56 SiEsns’ D, SErerE SEted”

gor Eisan® oo 5;;}5;:3 Bl 3otd SEHNE0.

2. The Test Baoklet eontaing 150 questions, Fach question carries 1 mark.
S JEtns” 160 SHeoD. e51 8, (SH0 1 Sl Srapotindiio

8. The Test Booklet has three (3) sections, Le, Bection I (General Studies & Mental Ability),
Section 11 {Agricultural Engincering) and Section III (Agricultural Engineering). Each seciion
comtaing 50 questions and sach question earries one mark. The question of the Section | ie. G5 &
MA are set in English and translated into Teluge. In cage of doubt English version will be considered
83 authentic version for valuation purposs, The questions of the Section IT & Section 11T are set only
in Englizh as per existing patiern,
t (58 i Surth Dyrmon edm 285 1 (mand A5 dbain Zotsd JDE), TEs I (ehsentd
aounboh) doboio RS I (eisond acedboll) dod, B8 Jeriide 60 Fdol, 28 8 S Triy i
B &S0, BES 180 pEe sohSd’ sard 3dbal Sanh il e dgis Al SEror
iy Sfod Soited ofhd™ 5 Eirdsur SHTseddcd, BES 1T Mbain HES [T &2
Shm shad' 4 2506 Pt Ticin FofE3 dainth dabnldid,

4. Tha Teat Booklet is printed in four (1) Series, viz. [X][B][E][D] The Series, []or [B] or [€or [D]
is printed on the right-hand cerner of the cover page of the Test Booklet, Mark your Test Bocldet
Saries or . or aor [E in Part C on side 1 of the Answer Sheet by darkening Lhe appropriate
cirele with Blue/Black Ball peint pen. '
|, S el Sgwed’ (Series) v [A][B][C][D] sisned® sufiodedid. & wfineis
v [B] 2 [€] o [D] 2 89 sigbtn Booty, e Sl 0435 Sored® dnfodndas. s oF
By By, Sy (Series) [A] wa [B] e [€] o [B] i Revors s@ie wowd gy 2§ © dod
sothBitn ferovcdeds Stet g/l od S0 L dom 00 Nodsn.

Ezamipla 1o 0l up the Bookist Seres
Ifyour Test Booklet sanes |5 A pease Il 25 shawn belowy ;

@ ®© @

If you have not marked the Test Booklet Series af Part C of side 1 of the Answer Sheel or
mearked in oo way that i leads to discrepancy in defermining the exact Test Booklet Series,
then, in all such cases, your Answer Shoet will be invalidated without any further notice,
No correspondence will be enlertained in the matfer.

b (5% Nttt oot s (Series) Somems SESH c8nd 33 f € & Biodsdasr B Biodd
S Y S gl BT SwiBPhoD Sosdeds o0 Shamr sy endod el dodiived',
lise Jicsl Bl o8 Saswomd Musord Mese #880oSests (invalidated). 833 Mol
Jendonl SEEEEERr B lnly.

06112016



EEA/STAM 13 [2] EI

.

Each queation is followed hy 4 answer choiess, OF these, you have to select one correcl answer and
mark it on the Answer Sheet by darkening the appropriate circle for the question. If more than one
circle i5 darkened, the answer will not be valued &t sll. Use Blue/Black Ball point pen to make heavy
biack marks to fill the circle completaly. Make no other stray marks. Use of whitener is prohibited.
Ifused, it will lead to invalidation.

B8 W et Birerdlos atdisd, ootk S00LC e JER MENro S S48
fromodinds Sfidotk Ser ©f Jouili. o oRy DD SWiScoik ScbiE & Sleoriiie
Sodboladt. HEtah Sram Sem &f JoHi /et o Sonod My TEITW. RSN
folgen Bidgerds. PATHE mritls IENONEA. TrEST Sror ISt SORoBnRD.

e.g. r If the answer for Question No. 1 is Answer choice (2], it should be marked as follows :
= Ta I;-IE-}' E?":':g!.r I.IE.'5|:|.|-\_"‘-".:|H]EI 1 5 =0pen (3 E&%m oroa e dol DSk HORosSdD

110/9[®|®

Use Blun/Black Ball Peint Pen only, failing which your Answer Shest will be invelidated. Gel
pens/pencils are not allowed. It is not required to darken the second copy separately,

Adpord Sel DoSerDd BB e 3y onf Sonedd Dih Seeth asan Sof Sired SdiSs
sedboinc. 86 saye, i e3qriostrdd Do b SErD; 3dw tod sonuselo.
Mark Paper Code and Rall Mo, as given in the Hall Ticket with Blua/Black Ball point pen by

darkening appropriate circles in Part A of side 1 of the Answer Sheet. Incorrect/not encoding will
lead to imvalidation of your Answer Sheet.

50 320 anedd & Do g, T5 Sonthih Sobicln i §F Sonth RIrgD SfSn oY, L5635
258 2 A soth i/ od Scanoed DB HOENS Syved’ Sgm 198 rJUNED. sRcghuT
At B 35 2of Scabdtrone SEreed Siise S08otad.
Example ;  If the Paper Code is 027, and Roll No. is 956403764 fill as shown below |
dorcidoe : 535 £'E 027 Dobatn B Do, 056403764 monSE o Sobs DESom Dogso :
FPaper Code Eoll Na,
b EE B 7o,

80000808 o
eeeOREe0e |~
2eeee0Re0e
9ECRELEEOG .
laisial SeEielelly
280000008 |
2eeeeRe0e |
BEOOHECCe |
2000000000«
290908880 e |~
2800008800
2060028 0e -

06112016



EEA/STAM13 (3 =]

H.

Tk

11.

12,

13.

14,

L.

6.

Please get the signature of the Invigilator affixed in the space provided in the Answer SBheet. An
Argwer Sheet without the signature of the Invigilator is lisble for invalidation.

sarers SEsod® Sronod josud” 355500 (Invigiator) Gnf), Hodshiuih SrobSBh. 255
sedend Soddtn SErerd SEed” Sitonst ob Soilolnss.

DO NOT [uld, tear, wrinkle, tie, staple, do any rough work or make any stray marks on the OMR
Answer Bheet, atherwise your Answer Sheet will be invalidated,

g Sgcw bR DEer oS 56w, Sted Sdseterd, fde Rabose mi, Joltiord, 35 Jabio
Ratbessa e Shss’ f Shrors St s0dDoteam,

Using the Whitener/Blade/Eraser or any kind of tampering to change the answers on OMRE Answer
Shwset will lead to invalidation

BErgrS Stend” U morm Hrtnt Peah, 8, Suyh 82 0 00 Sfyeres e I B AADR
S sodhasessh,

Do mot mark answer choices on the Test Bosklet, Viplation of this will be viewed seriously,
MErerEtond BHHE5e HGoso, S50 wdEuoling S Sondotuin,

Before leaving the examination hall, the candidete should hand over the eriginal OMR Answer Sheet
[top sheet) to the Invigilator and carry the bottom sheet (duplicate) for histher record.

4BE S 360 JHISO, oD O SIo HSo wossdy (Rl Sein) end al SGEE008
{lovigilator) 2, 25D (duplicate) i Sfitoi (Bof Syie] 255 HegD S,
Programming Calculators, Mathematical/Log Tables, Mobile Phones, Blue Tooth instraments or any
other Electrente Daviees will not be allowed into the Examination Hall.

Errioel sbsfely nddfell Swd, Jafd, ep Wl S0Soo R gor Jtwdod Jogtl
sesrsued S0 Fodd sibiodoith.

Candidates should stay in the Examination Hall tall expiry of Full Time 1.e. 2% Houra. No candidate
ghall be allowed to leave tha Hall in the middle of the expmination ander any circumstances.

sbe S sppe 365 $rg wdby 56 (2 fower) eodsB. 36§ G MY Sojmed
el sy ot

If any candidate attempts to use any means to cheat'copy ete., he'she 1 liable for presecution and
debarment.

b sgh wonmr daloffrh Anteord Tuond Bdbioligond D wfdritm ook elrd e
riof e,

Rough work may be done on the last page of the Question Hooklet only. It should not be done
anywhere else,

b 1B 56 Sod” 050 A8 Sl oD, 38 2o Joborth,

06112016




EEASTAMTA

SECTION 1

Passage for guestions no. I o3

Lalithe, Raja and Rama availed the discount offers
during a Big Diwali sale, They purchased one item
each with the highest discount being ¥ 125, The
blue cont was not purchased by Lalitha, Rama was
happy to get a discount of ¥ 90 on the item bought
by har, Tho diseount on the red item wns mare than
that on the pillow covers. The discount on trousers
was not T 50 and the trousers were not bought by
Lalitha or Raja. Ome of the items was green In

calaur,

Answer the following questions :

1.  What was the item bought by Bama 7

(1} Coat
2} Pillow Covers
3}  Trouwsers
4} T not know
2 How much diseount did Lalitha get ¥
1) <126
i2r To0
2y T5H0
(4} Do not know
8.  What is the eolour of the tem purchaszed by
Rapa 7
(1) Hiaa
(2} Red
3} Green

4y Do not know

{41

BES 1

SEemsn 6 Ho. 1 H0d 3

o, oer Mlotn G by B350 eugdued
rondl p S Fonth, o o8 S
Tt b o8 wEDd afieds b I35
rrond ¥ 126 b6 50 dorb T T, 65 Y
SGH R T 90 ocond ofolNods e
Rofholied. Jtsh dolfd g9 obods orond
Sot KBwe g ofolS mond By s
Jmote 28 sbolS cond T 50 50 bain obd
o e b Syote TS, T Sy Ll
et St Sorbd® 4ob,

[

ul P

Sali St ASrerRe Fbod |

1. G 5y Saps) Sl 7

(1) Faw
(2 Bod fbeses
] ﬂ"ED-i'-l}
(@) oo
2. - obhaD Joo Tond slodod ?
(1) ¥ 125
(2 T
(@ T80
(4) B
8. o 5 ST ot 2 7

(1) 8 Soro
(2) S

(3) ot 5
(4} DEoh
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4.

If the dats based om workers salary 18 as 2500,
OTH0, D600, 2800, 2U00, 2100, 2000, 2900,
3000, 2800, 2200, 2500, 2700, 2800, 2600 and
number of classes desired i= 10, then the

width of the slags interval is
{1y 400
(Z) 300
{31 100

(4) 200

Difference of mode and mean i8 egqual to
(1} 3 {mean - madian)

(2} 2{mean — median)

3 B {mean = mode)

4y 2 {mnde = mean)

The length of the coastling of Andhra Pradesh
in the nearest whole number of ldlometres

ia

1y 924
(=) B4
3y 974

4) Dad

LR

4,

.

(o]

U0 day JafSwmo 2600, 2700, 2600,
2800, 2200, 2100, 2000, 2900, 3000, 2600,
2200, 2500, 2700, 2800, 20600 On o)
e Howg 10 sond, GO soddEs
S 7

(1} 400
2y ano
(3} 100
(4) 200

ErEdEn Sbah Aies D& Sdon G
Bod il St

(1) 8 (B - Sgpigsw)
(2 2 (R - o)
(3) 8 (Zrkn - errodEin)

(4) 2 (wSedEiin - Biko)

soy @EF At dug), S, 8oy
(G Bod Tredd” Sakd o)

(1) 924
12) 954 1
{3 974
(4] 584




(1) Callateral federalism
(2} Competitive federalism
{8 Compulsive federalism

{4} Cooperative federalism

EEA/STAI113 18]
7. What percentage of the eountry should be|T.

covered with forests in arder to maintain the

ecological balance 7

{1] 23%

(2] 31%

(31 22%

)} 4T%

B.

8. What were the parsmeters adopted by Suresh

Tendulkar Commitiee to estimate poverty in

India ?

(1} Money required for stipulated mininum

calorie intake
(2) Spending on transport and housing
(4 Spending on food, education, health,
electricity, clothing and footwear
(4} HNooe of the above
o,

%, What is the puiding principle behind

establishment of NITI Aayog ¥

[C]

Bombes Hlotha nesornt dkas” Jod
s stingoed Sod somd !

(1) 23%
(2) 1%
(3) 33%
4] 47T%

Lubed, wolir vk 0§ Bodreb

52008 ST Foden Il ?
(1) =555 ethd Tho TEoNS o5
(2) o Soboks A S8 Bho st

(3) eSfosn, Doy, obNs, Jund &
edyen S0 utis o gipm

(@) podd Dd=g

a6 edrh phodicin 3%E fo SrgugE
mEposin D3 ?

(17 e=dnhohs Fi;ﬁrr;:.a ;n:,g
(@) RO A b
3] ﬁﬁwaﬁ.‘-&a Ry @

(M} O .'-EII!]‘EI'-_;_ F-'U’J_ﬂ_
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10, What is the target date for implementation of | 10

G5T?

(1} 1™ January, 2017

(2y 1% April, 2017

(3) 1% April, 2018

(4) 317 Januvary, 2017

11.

11. What is the reason for celebrating T August

as Mational Handleom Day ¥

i1} Bwadeshi Movement

(2)  Civil Disobedience Movement

{3) Ahmedabad Mill Strike

(4) Mone of the above
12. Which party is called as the Grand Old Party ? e

(1} The Eepublican Party

(2) Indian Mational Congress

(3} Conservailve Party

(4) Communist Party of India
18. Which vedr wae declared as the International o

Year of Pulses by the UN General Assembly ?

(1} 2015
2y 2016
CFy 2017
{4) 2014

(o]
BI04 ebo Stibbn DJlotndi o
Aan th Zob e H8oHS

{1} 71 esnadd, 2007
2y 1Jpd, 2017
(@  1J@d, 2018
(4) 31 =H50, 2017

edh d38 aFdmde end DoEasd
B SEs fo TUnss & fod +uf
nofosimn

{1 m_;&ié it nzin

(2 anFeoiisstns
{a; -&:-.‘?'i-!:l“ﬂ‘-ﬂ oz B
(4) B 2E0MD 2 s

D eresdorh Sodid “FEy Pl 28" (GOP) m
S50t & 200 il Mot

(11 &8ss b

(#) gros eodh sofio
(3) 435305 >p

(4) grodioch Sharpig R

= fod 7O D fobd@itat wodgidd
SuoBiibiin SoStESWT 8% Cw IO
oy, ArErOo S f“:ﬁ":,-‘ﬁ;lﬁ 3

(1) 2016 .
(1 2018 °

(@ 2017

{4) 2014
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14.

13,

16.

17.

What is the symbol of the Democratic Party of
SA?

(1) Horse

(2} Elephant
(3} Donkey
{4) Pig

In the Brexit referendum, the vote share of the
group favouring exit and the group favouring
remain was in the following ratio ¥

(1) G644
(2] 67:43
3y G58:42
{4y B3: 4]

In Paralympics, 2016, which of the Indian
athletes brokes the World record ?

{1} Marivappan Thangavelu
{2  Devendra Jhajharia

(1) Deepa Malik

{(4) Varun Singh Bhati

Wha iz the winner of Nobel Peace Prize for
2016 7

1)  Juan Manuel Santos

{2} Salvador Sanchez Cerén
13} Carlos Antonio Losadn
(4)  Timochenkao

(8}

14.

15,

16.

17,

D]
& o8 i elbe Sodng oyees’)
erarglol 0 (Domoeratic Party) i

Sameory Soodpiae /bGodnie
(1) fogsSn

(@) DE0

{3) el

(4) Sob

G 0B Dhpied’, Biel  pederad
Lupmdt PO0ED Aol SobbE ooy

sabety oSS Somred Hirdrdos 43043
Ea D580 Sodofot

(1) B6:44

[(2) &H7T:43

(3 B8:42

(4] 59:41

5 olah do sma @ESos Bepm
SEerotie eBobEy 2016 & edilord &
Bob FRE" refodiniot

(1) dcEy Sartie

(1 Ao dptyrhalr
@ &> o8k
{4) Stoeh boh ol

SHd eod oILED 2016 PoSEYENeID
3584 G fotoad adlomh ?

(1 eard Sl wotf'e

(2) & Frodd R3S
(®  TOh aroliNa
(4] EEETEJEL_
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].E-

19.

21.

What is a hight wear !

(1) A wear which passed on without
difficulties

(20 Year dedicated by UNO to “light”

{3) Time measured in astronomical units

(4] Distance travalled by light in one year

Deficiency of which of the following results in

guiter and eretinism 7
(1) TFolic Aed

(8 Vitamin A

(31 Todine

(4} Zine

World Health Organization recommends
exclusive breagt feeding from the date af birth

of the infant up to the age of
{1) 3 months

(2] 6 months

(3} 9 months

(4} 1 year

Natural ripening of climacteric fruits (like
apple} ncours due to

{1)  release of ethylene and increased rate of
respiration

(2) release of ethylene and decreased rate of
respiration

(3) release of acetylene and increased rate
of respiration

{4} release of acelylene and decreased rate

of respiration

| &)

18,

19,

21.

(0]

ol Holdtio e ol

(1) Spsesy SHhof NGS5 L8 Sohdhtoe

(2) oEme DS sofl scls Dy
leb T

(@) Sobiamde Fodbomn  aldrnsd
PR oo

(4) oY Solewisnd' o8 Edrtod
Sl

S 2ob =& 3D o), B2 o8 monid

(Fodo¥edd) Sobailn Bl (Jdibls
5380} elmrpiions SoEhomi

(1] P85 e5se

(27  Dhaders A

(3) odrds

(4) ok

Suers B Heldhddod ) Wriboe
355 ESedn of o fEionadm Raod
efn op bk das8 o dod TIE
roGoeiahn

(1) Sl Srfidoe 56D
(2) esclh Spdows 0%
(3) Slph drtilone SUD
4] e Hoddntise 30D

L2l dory (ehSSoudd) & dob T0E
32 orgor e B850 Dodind

(1) =Ebi Dbte Sbots BEND Tgd Sob
]t

) gudS  Debeie Dbt Sdlobd el
Bl Seds

(3) SHedHS Ddde Dby BN T
B So :

4) JhedS Sese Mbck  Sdods

FrEEoh do




EEA/STAMN13

2.

Scramjet uses the following fuel :
{1} Hydrogen

{2}  Aviation foel

{3} White Kerosena

{4) Butane

On which date was the Quit India Movement
started

{1} August8, 1942
(2) August 8, 1843
3y Januoary 26, 1942
i4) Jenuary 26, 1943

Who is the founder of Arya Samaj ?
(1) Swami Vivekananda

i2) Raja Ram Mohan Roy

(3] SwamiDayanand Saraswaki
i4) Gopal Krishna Gokhale

Who sang Vande Mataram at the session of
the Indian National Congress in 1896 7

{1}  Sarojini Naidu

(2}  Bankim Chandra Chatterjee
13y Ravindra Nath Tapore

(4)  Rahimtullah M. Savani

Which of the following was met founded by
Dr. B. R. Ambedkar 7

(1}  Deccan Education Society
(2) SamajSamata Sangh

(3)  Peoples Education Bociety
4) Depressed Classes [nstitute

{10) (o]

22, & fod TRE D zofusn En DRSS
aadrhod L deod
1) adad
(2} JEs2E gedshn
(A) g i
4) eadS

g9, Erts o oot & #6b whE O
Bodns s Ditw Sod PSS Lol
(447 sodatr) Sxdmraw
(1) =fi B, 1942
(2) et B, 1943
(4) =550 26, 1942
(4)  =Roh 26, 1943

24, =5 Pareded bodism 358 & fob
o5 rofotNet
(1) el Do
() o= o Arars ook
(3) dryple Soirsod Md
(4) Firo gy fed

25, 1896 & Zodiras Aol pUs =dab
mofs  adiefaied’ eebolsb 255 S
dod & Hhoshct
(1) SE'2n ot
(2) 203N Jou séof
() Do =8 oiE
(4) CLPOTNE ol R

26, & S0 M doged’ I § Db
wolien b m holamosdic
(1) o Jorg Aoy
(2) e Sy Holimn
(3} e Doy Bad
4) e 20D SR
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27.

The words ‘Satyameva Javate' in the State
Emblemy of India, have been adopted from
which one of the following 7

(1) Dirakois Ui
& Mudgsle Upanishad
(3) Maitreyi Upanishad
(&) Mundaka Upanished

After how many years, do onc-third of the
members of the Rajya Sabha retire 7

(1] & years
(2} 3 years
id} Goyears

i} 2 wyears

Out of the bills given below, with regard to
which bill, can the President neither return
nor withhotd his gssent ¥

ily Defence Bill
{2y Money Bill
R Law Bill

i4) Financial Account Committee Bill

Which 15 the first Indian Sktate 1o set up
‘Happiness Department’ Y

1) Madhya Pradesh

12)  Sikkim
d)  Goa
4} Tripura

s

27.

[E]
“oeiriod mond’ el SGEew & dod T8
69 ool gdrod S5 erdol imind
Srofhntiorth
(1) (e ANDSSE
(2 Sogesund
(@ DbcArslng
4) SnosERNS

eSl8 Dorfode ol Cwidl Db S
Son SOpAntE TS o) RoSthE Snom
LHERD SO D Dok

(1) 6 Sold o

() 8 Hossyio

(3 5 Hodd Dl

{d} 2 mﬁﬁwﬁm

B fof LMSuds O Doyl Ul opsd
EnSedin md, eDeoln Jdonods S
i e )

(1} e e
(2} 5 Deg
(8} mrecth S

(4) =B feerol BO5H AL

‘wdod Sorlswth Jesd e D osban
g DEYONAE B ol TOE Nboiin
(0 sogy @88

(2 ML_G

1 I

(4) 1650
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31

")

“ (4]

How many sectornl missions are established
by the Government of Andhra Pradesh as part
of the mission based developmental strategy 7

1 132

2y 10

(3 8

(4) 7

What is "CORE" in CORE Dash Board 7

(1)  Control Orbit Reentry Exarcise

{2 OM Office Real Time Executive

{3) Central Organizgation Reform Effort

(4} Central Organization for Rural

Flectrification

The Indo-Gangetic plaing, also known as the
Great Plains, sre larpe alluvial plains
dominated by which of the three main rivers?
Ganga, Yamung and Gandaki

(2) Indus, Ganga and Brahmaputra
(anga, Yamuna and Hooghly
{4y Ganga, Kosi and Gandald

In tarms of proven Coal reserves, the position
of India amongst the countries of the World is

o1
@ 3
@ 5
W 7

{12)

31.

a4,

[E]
wop POF  Egomin  (BE9)  sar
ssbnmooons e  Ppied
s 2% Dnsew DITE & Job
THE rofodiie
(1 12
iz 10
(8 &

4 7

CORE $o55 (Dash Board) &' “CORE™ &3
H3r & g0l TOE HGodNath

ke 34 RBofe HE ; 5359

S ol Topeat Ju Sah 5
Jongs 55y

Sodah Som tes Solr 550

Bafict reibes DeivBtien Sasi

{1}

.4

(3}
{4}
@& B SUtodzes oy Seoam EREEHS

Lotir-fom Dossved Eitrod S

g Se S fob TAE Rfodned
(1) Ko, chlod Sobdin ot
(2) Dot Norm Sboks @
(3} Horr, oSS Ssdakn o)

4y fom, 5% Sboke Hoss

Ntrhosess Ep  dhbSee  wrUhom
erogdise @Sou A€ived D PEted

poayE g B0t R Moot
3. .3
@ 8
(@ 5
4 T
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a5,

A6,

37.

38,

Which recent Inlertiational agreements have s
bearing on Dizsaster Management 7

i1 Sendai Framework
{3 Bustainahble Development Goals
2015 = 2030

(31 Paris Agreement on Climate Change

(41  All of the above

At which stage of disaster management cycle,
would “response”™ be the main activity ?

(1} Pre-disaster
(4} Disaster

i3} Post-disaster
(4} Devastating

As per the High FPowered Disaster
Management Committee Report, 2001, in
terms of vulnerability, an L2 type indicates
manageability with resources at

{1
(2)
{3
(4

Village leval
Taluk/Mandal level
Digtrict level

State level

What ig “The Limits to Growth" 7

{1} Limits set by Society on growth

(2) Limits set by

growth

A 1972 book on computer simulation of
growth with finite resource supplies

Industry Cartels on

3]

Government’s

growth

4] inability to improve

{13}

a8.

O]
gtloe sona 5 wotgduh LSodhin, Db
DEre Sffed Pordc dritel b fob
TOE HgoiNat

1) moordl Jmodd SEerdl
(2) Hb¥eoErBAN edind oxee
2015 — 2030
(3) oSt Sroy pelis 200 whodo
(4] ;.1.:' Hﬁ.ll:ﬂ:l:l

N ezt Sdied’y D HE Soth
"Bl eds” odedd Sospd TOESerT
ot & dod IE HBodNeth

(1) D3 Yrogin (Swots)

(2 e HSchded’

i8) DSy elR S (D58 eBodtian)
(4) QAP TEHC SO GHTE
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39,

41

41.

42,

What was the theme of World Environment
Day, 2016 celebrated on 5 June ?

1) “To prohibit illegs] trade of threatened™

(@ “Sowen EBillion Dreams; One Flanet
Consume with Care”

(3} “Small Islands and Climate Change”

(4) *Think, Eal, Bave"

What is the periad for which Hyderabad shall
bt the cammon capital of the states of Andhra
Pradesh and Telangana ag per Section 5 of the
AP Rearganization Act, 2014 7

(11 10 dears

(2 Notexceoding 10 years
(3 Above 10 vears

(4) Mone of the above

The number of arganizations included in the
¥ih gohadule of the AP Recrganization Act,
2014 as on date is

(1) 142
(2 133
! O

(4} 107

Who heada the Apex Couneil for supervision of
functioning of Coedaveri and Krishna Rivor
Management Boards ¥

{1) Covernorof AP & TS
(3 Prime Minister of India
{3y Minister ol Woter Resources,

Governmient of India

i4)  Chairman, Central Water Commission

(14

39,

41.
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413.

44.

45,

What iz the FRL {full reservoir leval) of tha
Polavaram project 7

1) L0 feet
(2) 136 feet
{31 150 feet
4] 1T feet

Az rocommended by the 14" Finance
Commission, the primery routs for tranafer of
respirces from Centre to States shall be
through

1) Devolution of taxes

(2} On the bozis of population

i3] On the bosis of economic backwardness
4] Moneof the above

Which ane of the below is mol one of the most
impirtant components of Green Bevelution 7

1y  HYWV secds

(2}  Chemieal fortilizers
(3} Irrigation facilitios
fdy  Cradit facilities

The focus of “Make in Indis” programme 15 on
how many sectors 7

(1y. 12
2) 2325
@ 36
(4 B0

(161}

43,

44,

44,

Al

[o]

Fosto e SPEIE Gl eoddd
rsgidior (FRL) 06 7

(1) 100 esiSsrsas
{2) 136 elnbo
(3 150 eslorboe
(4) 170 eslefOoen
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47, PMEVY means 47, PMEVY wam 32 & Sod ot Beodlel
1) Pradhan Mantri Krishi Vikss Yojana (1) s ol 5;;;:_ b B P
(0  Pradhan Maniri Kaushal Yikas Yojana @ SosDod g i = o
(3 -P'l'ﬂdhﬂ.ﬂ Mantri :H.ET!'I"ITE. Wikas Y{ﬂ-ﬂﬂﬂ (3 ._:‘:D"F:- mnu:._, TE&E Bl 5&@

{4y Pradhan Mantri Kamks Vikas Yojana 4)  Eoen 2ed GJ:BE". e S

48. Archimedes: Buoyancy :: Newton 1. 48, ﬁEﬁﬂfﬂ : S5 oy ::a:r-;mﬁ %
(1) Apple 1) end
> S
(21 Principa (2 l;‘-i?-'f_'_:ﬂﬂ

{3y Gravitation
(@) erdrgle
{1y  Maching
(4) oo

49. Ohserve the diagrams below and staté which
pumber on the dice is opposite to &

P68 | 9008

0. © ol Ghgmtc Mslod, JruEp 6 035

(2 2
2 2

@ 1
3 1

@ 3
! 4) 2

50, If ELEPHANT iz LSLWOHUA, then|zg. ELEPHANT oS8 LSLWOHUA eond,
DELICATE is DELICATE estios8 23 7

WPJH
() EISWPIHL (1)  KLSWPJHL

(2} KLSPHJAL (2) KLEPHJAL
i3] KLSPJHAL (3  KLSPTHAL

{4) KLSHFAJL (4} KLSHPAJL
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SECTION 11 .

B1. This scil structure is common in sub-surface of

alleali gails

(1) Spheroidal

(3 Blocky

(3} Crumby

(4] Columnar 57.
52. The net negative charge of colloidal complex is

mare at pH

(1] 30-50

{2 &50-845

(& T0-80

(4]  Not changed with pH B8,
3. The chemical reaction invelved in nitrogen

fixation 15

(1} Oxidaticn

(2} [Deamination

(#) Nitrification

(4] Reduction 5.
54. Laterite goils belong to the order

(1) Alfisols

(2]  O=xismala

() Spodosols

{4) Inceptisola
55, Atterberg’s limits are related to the following

sail property :
{1y  EBiructure
{2  Plasticity
(3}  Density
14) Brrength

The dominant soil order in India is

(1}  Vertisola
(2)  Alfsols

(3% Entisals
4} Inceptisols

The clay enriched sub-surface horizon is called

(1)  Albie
() Argillie
3} Cambic
(4) Oxic

This textural class is comparatively coarser ;

(1} Bilty clay loam

(2} Silty loam
(3} Sandy clay
(4} Silty clay

Internal drainage iz the common problem in

these soils

(1}  Deltaic alluvium
(2}  Coastal sanda

{3} Black cotton soile
(4] Hed loam soils

Bulk density is likely to be less in these soils

{1)  Organic
{2] Hed :
{3) Bandy
(4] Black
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61

63,

The velocity of a fluid in A pipe of diameter D
is V. The pipe is connected to another pipe of
dinmeter 2D. Rernolds number in the pipe of
diameter T in relation to the pipe of diameter
20 is

{1}  Duuble

{2) Four times
() Half

(4} Same

The part of a refrigeration unit in whick the
refrigerant changes from vapour fo liquid is
called

(1) Ewvuporator

{27  Comprossor

3} Condenser

i4)  Throttle valve

Psychrometric chart is a  graphical
representation of which propertics of air ?

(1) Chemical

(21 Asrodynamic

3) Hygroscopic

(41 Thermodynamic

Logarithmic mean radius of a pipe in rédation

to its arithmetic mean radiug is always

(1) Smaller
{2} Greater
i3] Egual orsmaller
i4) Egual or greater

{18}

6T,

(D]

Air at 40° C and 50% RH has a wet bulb
depression of 10° C. If the relative humidity
decreases to 40%, the wet bulb depression will

{1 Incresse

{2y Decrease

(30 Remain constant

i4)  Faollow no definite trend

Regeneratien 5 economical when product is

(1} Heated

12y Cooled

(31 Heated and cooled

i4) None of the above

The dimensions of thermal diffusivity are
(1 ML

(2) MLT

@), MTLT

{4) None of the above

Frne'm:l.g temperature of brine i

{1} Lower than pure water
{2) - Higher than pure water
(8 Same as pure water

{4) Can't say

Which of the following mineral particle size(s)
is classified as silt according to ISSE8 7

{1] 005to0-1 mm
(2 0002 to 0-05 mm
(37 0002w 002 mm
4} Mone of the above
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70. Maizeisa 8.
(1] BHoi maintaining crop
{21 Soll bullding crop
(3] Boil deploting crop
4] HNone of the above
71. Class IV type lands are I
(1)  Buitable for cultivation |
(2] Mot suitable for cultivation |
(31 Partly suitable for cultivation .
(4] None of the above :
T2  Length of the Survevor's chain i
(1) 33Mm :
2} 661 |
(3} 1001t
{4) 1501, -
78. Boill degradation takes place due o
(1) Glacial erosion
{2) Geologic erogion
(3  Accolerated erasion
(4]  All of the above
74, Darey’s Law is valid for
{1) Laminar and turbulent fow
(2]  Turbulent flow 79,
{3} Laminar flow
{4) Transient flow
o, A refrigerant vapour i8 to be condensed inside
a shell and tube heat exchanper using water
oz the coaling mediuvm, The water should flow | go,
through Il
{1}  Ehell side of the heat exchanger
{2)  Tube side of the heat exchangor
{3  Anyof (1) and (2) abave
{4) None of the above

[B]

Fluids which bacome more runny and their
apparent viscosity decreases with Lime ag they
are stirred, are known as

(17  Peeudoplastic
(2) Dilatant

(3}  Thixotropic
(4) Rheopectic

Sun's radiation eorrezponding to that of o
black body temperature is about

(1) §000°K
(2 80K
3]  TOM'K
4)  14000°K

In a heat exchanger, the rate of heat transfer
from the hot fiuid to the cold Auid

(1} Varies as the square of the area

(2} Varies directly as the area and itz
LMTD

(3} Dbrectly proportional to LMTD  and
inversely to the ares

(4) None of the above

Slump test is used for measurement of

(1} Hardness of concrete
(2} Plasticity of conerels
(3} Elasticity of concrete
(4}  All of the above

MNatural convection is associated with

{1}  Prandt]l number only

12] Reynolds number only
{3} Grashof number only
{4)  Nusseli number only
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Bd.

The ratio of water stored in the root Zone of
the plants o water delivered to the field is
tormed as

{1} Water application effiviency
(% Water storage efficiency

(3 Water distribution efficiency
(4)  Water use efficiency

The ratio of the volume of voids to the tetal
s0il volume is called

{1} Void ratio

2y Porosity

{3)  Dry bulk density
(4) Wet l}ull:c’. denaity

Penman method is nsed to compuie

1) Consumptive use of crops

(7} Potentinl evapotranepiration of crops
()  Water requirement of crops

i4) Trrigation water requirement of crops

Most cereal foods contain mainly

i1} Proteins
{2) Fats

i3} Btarches
(4) Vitaming

Quicksand condition is created due to

{1} frictionless nature of sail

i21  low value of cohesion of sofl

{3 upward sespage force greater than
guhmerged weight of soil

4} downward scepage pressurs

{20 ]

HT.

[o]

At fisld capacity, soil moigture tension of
sandy soil is approximately equal io

(1} 0O-1lbar

(2) 10 bar

(3} 10 bar

{4} WNane of the above

One ton of refrigeration is equivalent to the
heat required to melt one tonne of ice in

(1) &h

(2 12h

{3y 18h

(4) 24h

Evapotranspiration in o erop field surrounded

by dry fallow land will be higher than that

surrounded by vegetation due to
(1) conduction of heat

{9) easis cffect

(%) clothesline effect

{4} convection of heat

For a watershed, the universal gail-loes

equation computes
(1)  annual runoff
{3y average annual soil lose

{3
(4}

erodibility factor
average annaal ranfall

The porosity of sandy seil ugually ranges from

(1} 30 to36%
(2) 36to 0%
(3p 40 to BO%
i4) B0 to 60%
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1.

The indicator plant used for determining the
permanent wilting percentage 18

(1) Wheat

{2 Saffower
(3} Bunllower
(4] Paddy

When the seil moisture and rainfall are

inadequate during the growing season 6o
gupport healthy crop growth to maturity, it is
called

(1} Metrological drought
(2) Hydroiogical drougit
(% Agrieuliural drought
(4) None of the above

Soil strength 1= determined by

(1} Ponstrometer
() Micrometer
(3) Hydrometer

1) Dynamometer

Lysimeter is used to maasure

(1) Infiltration

(2] Evaporation

(3] Evapoiranspirstion

4!  Wapour pressure

The deminant eation in most of the soils is
(1) Soedium

(2) Potassiom

{4) Calcium

4] DMagnesiom

{21}

96,

100,

o]

The element responsible for dispersion of

particles in soils is

(I} Manganese
(2} Potassium
(3) Sodium

(4} Calelum

The relative mobility of this ion is least in soil
SyEiem |

(1) Magnesium
(2)  Silicon

(3  Aluminum
i4) Tron

This is an abundant group of rocks on the
surface of the Earth’s crust :

(1) lgneous
(2) . Bedimentary
(3) Metamorphic
(4] Organic

The mochanically formed sedimentary rock i

(1) Bauxite
{2) Bandstene
(3] Halite

{4] Graphite

This iz an aceessory mineral ;

(1) Microcline
(2] Hiotite
{3) Quartz
i4) Mognetite
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101.

103,

104.

LK.

SECTION ITI

Dige type farrow openers are especially sulted
£
(1}
12
BN

Stony and root infested sails
Poorly prepared bed in trashy soils

Hard and sticky ground with
considerabls amount of debris and
mulch

4] All of the above

A power tiller is most suited for rotary
cultivation becausa

(1] Tt generates negative draft

{27 Tis traction requirement is low

{3) It provides high degree of el
pulverization

(4  All of the above

The most used and least efficient power outlet
of a tractor is
(1) Power take-off shaft in the front

(2} Drawbar in the rear
i3y P.T.O. in the rear
{4] Nome of tho above

1f the travel speed of a tillage tool |s incressed,
the draft will :

(1) Increase linearly

{2) Decrease lingarly
{1} Increase quadratically
(4] Decrease quadratically

The penstration of animal-drawn dise harrows
can be increased by

{1} increasing the disc angle
2  decreasing the tilt angls
@)  adding more dead weight
{4y Al of the above

(229

| 108.

107.

108,

109,

1140,

[E]

The uwse of a pressurized radiator cap n
forced-circulation water cooling system in
tractor engines helps in

(1) reducing the evaperation losses

{2} increasing the engine-operating
femparatiire

(3] increaging the boiling temperature of
wabter

4y  increasing the radiator-cooling capacity

The commen type of fertilizer metering
mechanism used on animal-drawn seed cum
fertilizer drills is

i1) star-wheel feed

(2} Auger

{3}  StationaAry Opening

i4) Edge call vertical rotor

The firing order of 4-stroke 4-cylinder engine
i

iy 1-F-2-4
(# 1-3-4=-13
{3} 1-4-3-1
4y 1-2-3-—4

Angle betwsen centre line of kingpin of tractor
and vertical line is called

{1) Tilt angle

{27  Camber angle
{3} Caster angle
{4y Al of the above

Jointer and Coulter are the parts of

(1)  Dige plough

(2) Harrow plough
() Indigenous plovgh
{4) MB plough
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111,

112,

113,

114.

115,

The discharge rate of drip emitters usually
ranges from

(1) 22— 10 litersiday

(2) 2-10 literahr

i3) 2-10 litersimin

{4y 2 - 10 litersisoe

Sprinkler irrigation iz recommended in

(1} Highly undulabng area

(2} Bolls having high infiltration rate

(3} Arcas where irrigalion source i a
tubewell

(4} Al of the above situations

The apil property for geod ground water yield
15

(1}  Perosity

(2) Effective size > 01 mm

(3}  Uniformity confficient > 3

4] Iniformity coefficient < 2

Vertical :i.ut.eanlJl (W1} of héench terrace for a

vertical eut ia given as

1)  (1008YW
(2)  (100WVS
{3 (100AWS))
4 (WS/100)

Muole drains are suitable for

{1} Very coarse sofl
(* Medinm coarse soil
(3} SHandy lnam soi

(4] Fine texture sml

(23]

116,

117,

118,

118,

120,

[©]

Hydraulically most efficient eross-section of an
open channel is

{1} Triangular
(2] Recangular
(3] Semi-circular
(4) Trapezoidal

Sadiment viald is the

{1l  Total soil loss from an area

2} Produst of gross orosion and delivery
ratio

{3)  DBoth (1) and {2)

{4) None of the above

Chute spillway is used in control of a drop of

1) 0-8m
(2} 1-4m
() 2~4m
4) 3-6m

Sedl loss in genlogic erosion is

(1} Leas than aceelerated ersion
(2} Greater than aceelerated srosion
(31  Medium

(4]  None of the above

Self priming centrifugal pump has an impaller
of the following type :

{1}  Backward curved vane impeller

{2)  Radial vane impeller

(3}  Forward curved vane impeller

(4)  Combination of radial aod forward

curved vans impeller
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121, Toe-in and toe-out are related with

12Z.

124.

124.

125.

{17  Front axle of tractor

(2) Rear axle of tractor

() Tractor steering

i4] Transmission gystem

In the Rational formula @ = 0-0028 C.LA 1is

the intensity of rainfall in

i1) mm per hour

{2} em per howr

(31 m per hour

{4) em per minute

Spparntion of liguids from solids by the
application of pressure is known as

(1] Extraction

{2 Expression

(@  Filtration

{4y  Leaching

Tn size reductien of fine powders, which of the

following laws ia mere applicable 7

{1) Kick's Law

(%) Rittinger's Law

{3) Bond's Law

i4) Allof the above

The percentage of bran received from paddy is
(I} @&

{2y 10

(3 15

4) 20

{24 )

126,

127.

124,

123,

1340,

[E]

Inereasing the cylinder speed results in

111 Increasing the threshing efficiency
2} Reducing cylinder loss

i3) Increasing seed damnge

i4)  All of the above

In a rubber roll paddy sheller, the direction of
rotation and peripheral speeds of the rollers
are respectively

(1) Same and equal

(27  Same and different
{3y Opposite and equal
(4) Opposite and different

In dry milling process of pulses, prior o
treatment with oil, the following operation is

done:

{1}  Conditioning
(2) Grading

(3) Pitting

{4} Scalping

In case of lntermittent drying, total drving
time reduces a5 exposure time

{1} Incroases

{2} Decreases

3y Noeffect

{4) Nome of the above

Generslly tempernture in  multiple effect

evoporators will ___in guhapquent effects,
(1)  Decrease

(2] Incroase

(8} Hemain constant

i4) Cannot say
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131. Theoretically, the way(s) to increase cyclone | 138.
efficiency when particle size reduces from

10 micron to & micron diameter isbare

{1} By increazing the entrance velocity

{2} By increasing the length of cyclone

(3} Changing the temperatore in  the

cvelone

4}  Baoth (1) and (2) 157,
132, Milk and fruit juice are deaerated before they

ere allowed to flow throogh the pasteurizer,

This is done in order to

(1) roduce fouling of pasteurizer

(2) inerease rate of heat transfor

(3} reduce oxidative deterioration 158,

(4} reduce microbial load
133. Thermal vapeur compression is used in

{1}  Evagorator

12}  Homogenizer

(3} Pasteurizer

4] . Mone of the above 138.
134. The specific gravity of skimmed milk is

{1} lpwer than whole milk

{2} same as whole milk

(3}  higher than whole milk

(4] =zame aswater 140,
135. Centrifugal discharge iz used in

{1} _ belt conveyor

{2) choin conveyar

(d)  screw (auger) conveyor

(4}  bucket glevator

[o]

The removal of few large particles in an initizl
process i

L1}  Scalping
{(Z} Cleaning
(3} Grading

(4] Borting

Disc separator separates materials on the
basis of

{1} Length

{2) Width

(3]  Weight

(4} Shspe

For biological materials, the relationghip
betwoen EMC and RH wns given by

(11 Janasen

(21  Fankine

i3]  Henderson

{4y  Chung Fast

In ball mill, the size of food grains iz reduced
due ta

(L} Crushing

(2]  Shearing

3 Impaci

4] All of the above

In a godown extra space for alleyways for
mspection and disinfection of stacks is
provided which is generally aboul

1) 30%
2) 20%
[ 5%
4y 1%
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141.

144,

143.

144,

145,

In stanchion barn, the cows are housed amd

milked in

(1] different buildings

(2} opon space

(3) same buildings

{4) None of the above

In deep litter poultry house, the depth of litter
in pentimeters should be

(1} 15-20

(21 20-25

(31 10-1%

(41 50-—40

Herring bone is &

(1}  Milking parlour
{2} Fencing

(7  Barm

4) Al of the above

The velocity required to operate a windmill is
rr|.'|m'|.- than

(1) &kmph

(€1 10 kmph

{3} 5 miles per hour

(4) 10 miles per hour

The main constituent of bingas is
(1) Methane

(2] Hthane

{8} Butane

{4) Carbon disxide

{26 ]

[©]

148. In a fleating type bicgas plant, the gasholder

147.

148.

144,

150,

ir made of

(1) Metal

2y Wood

i1y Cement and Brieks
(4]  All of the above

The gas production per unit volume of digester
capacity will be maximum when the diamster
to depth ratic of digester will be in the range
off

(1) 0668t 1-00
(2} O-75to1:20
(@) 085t01-30
(4) O9dto 140

The wet process of hiomass digestion involves

{1) Pyrolysis and Gasification

(2] Hydrogenation and Liguefaction

i3} Liguefaction and Pyralysis

i4) Anasrcbic digestion and Fermentation

Tilt angle in a dise plough varice from

{1y B&°=10F

(2) 10°-15°
{4y 15 -25°
(4} 25"-80"

Increasing length of land side of a one bottom |

right hand mould board plow will |
1

{1) Incremse the amount of offsel on the
tracior

{2}  Decrease the amount of offset

(3y Have noeffect

{4) Can'tsay
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